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354 ��6�)   � (8793! ;:"¡Ü �¡<,=(�  �<)÷� ¢�3 � 4 ��6 *�>?3 )  �¡" �@�3 ) 3M¡	* � 4y �¡
ACB<D�E�FHGJI�GLKNMPO/F8IRQ�S�TVU�W�X$D GLD�Y�X[Z\TCB<]�GJY�B_^`W�BaIbA�O
U � (�¡dce*N  �gf ,M  �å� 3~¢hc 
ji'� c�¡lk>  � (�¢?(�*�m
 3 ,=,�>?(¥ �(¥  iln�$ 3 6 0o*�(�*�( � 15(�*�>ö  ) 3C*+> � ¢ ����� @ f 15>?(-,�>p(-0f  � *�3 6 ¡" �*�(8k�3/* � *�> � 0+3\." �0"3)¢ � ¡
 �,$* n   6 (�  �P$<6 3 0"3~¡�*5k>  �gn 3Y �¡Ü¢q0"* � ,�>" �0o*�(g,r* 6  �so3 ,$* ��6 (83 0�¡ � 1t(�¡ n 0+3 �

ce*u(-0f �¡b(å¡"¢?(8kl(¥¢ n   ���gf�v ." �0"3)¢ ) 3C*�> � ¢b15>?(-,�>V*� �w�390x(�¡	* �  �,=, ��n ¡	*y4 ��6 3~ �,�>V(�¡<0 n?6 3)¢
z *+>?3/0+3C* � 4P  �å�Ò$P� 0�0"(g. � 3u4 n * n?6 3 � (84{3�39k�3~¡�*�0}| � 4<>?(-0 $Ü� 0"(8*+( � ¡ � ( � 3 � *+><3u4{3) �0+(8. � 3�* 6  �so39,C* ��v
6 (83 0 � 4 ��6+)   ���gf 3=' $<6 3 0+0+3~¢;(�¡~*+3 6+) 0 � 4 ]$K}E�K}T$]e��T=D�TCB�KJ] ��� ><3�0 $  �,=3 � 4<0"*� �*+390�(-0 $?6�� kl(�¢?3~¢
15(8*+>� ~* � *�  �Ü��6 ¢�3 6 (�¡?@ 6 3 �  �*�(8k�3\* � *+><3=( 6 ( 6�6 39k�3 6 0+(8. � 3 � ,=, n?6+6 3M¡�,C3L  �å� *+> 6���n @�>b*�>?3j(å¡ v
0 n?6 3~¢ $ 3 6 0 � ¡`� 0 � (84{3
0 $  �¡ ���1� 3) �,�>[4{3) �0+(8. � 3�* 6  �so3 ,$* ��6+f (�¡p0 $  �,=3 �  r0"(�¡?@ � 3 $?6�� ." �.<( � (�* f
(�¡��   6 w � kl(� �¡R> fÒ$Ü� *+>?3 0"(-0/(g0\@�(gk�3M¡ � 0+3=3V� #C�É� � #)���  �¡"¢_� #�#$�r�5�

� >?3��y'� �,$*;c�¡"¢�(gkl(�¢ n   �x��6  �so3 ,$* ��6 (83 0\��3C*�> � ¢�*N �w�3 0\(�¡	* �  �,=, ��n ¡	*\*�>?3�* 6  �¡<0"4 ��6+v
)  �*�( � ¡ � 4� b4{3~ �0+(g. � 3�* 6  �so3 ,$* ��6+f (�¡�* � *�>?3�, � ¡	* 6 (8. n *+( � ¡a��.�3~¡?3C:<*rk�3 ,$* ��6 (�¡ ��6 ¢�3 6 * �
 �0+0+390�0 ��� ¡X �¡R(�¡"¢�(gk	(¥¢ n   �Ü��6 , ����� 3 ,$*+(gk�3�." �0+(g0 � *+>?3j(å¡�0 n?6 3~¢ $ 3 6 0 � ¡`� 0 6 3 �  �*�(8k�3\39� n ( � (8. v
6 ( n<)@$?6 3 ) ( n<) 0 �

� *�> 6 3=3 v ¢�( ) 3M¡<0+( � ¡"  �r)÷� ¢?3 �t� 4~4{3~ �0"(g. � 3�* 6  �so3 ,$* ��6 (83 0b(g0�  � 0 � (å¡	* 6�� ¢ n ,=3~¢  �¡"¢
*�> 6���n @�>   6 3 $?6 390+3M¡	*N �*+( � ¡d*+><3 ��6 3 )û�  �.?( n ¡?(-� n 3q, ��6+6 390 $P� ¡"¢�3~¡<,C3 � 453) �,�>_4{3~ �0"(g. � 3
* 6  �so39,$* ��6�f 15(�*�>û �¡�(å¡	*+39@�3 6 , ��vÉ��6 ¢�(�¡" �*�3 $P� (�¡	* � 4�*�>?3 )÷� ¢�3 � (�¡�� n 390"*+( � ¡�(g0/@�(8k�3M¡ �
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� Zb?h2�753M+-35B�,Y?�O ]y.1,Y.12	+-2�BF.1]�` B�:/.1,/.13M:8BS,8B�;
, e 35:F+-,/.1354���,E]^35]

� >?3p�y'� �,$*;c�¡"¢�(gkl(�¢ n   �2��6  �so39,C* ��6 (g390�� 3C*+> � ¢ � 15>?(g,�>d16 �0 $?6 39kl( ��n 0 �gf�$?6 3 0"3~¡	*+3~¢h(å¡
(�*�0/." �0+(-,r(¥¢�3) �0
(å¡ � � �  �¡"¢h� � �  �¡"¢q>?3 6 3r(-053 �  �. ��6  �*+3~¢ � (-0/1 ��6 w�3~¢ ��n *\0"*�  6 *+(�¡?@p4 6���)
*+>?3hk	(8*�  � , f , � 3 � 4;*+>?3 (�¡<0 n?6 3~¢ $ 3 6 0 � ¡`� 0 $Ü� 0"(8*+( � ¡ �/)  �wl(�¡?@ n 0+3 � 4;*�>?3�4 ������� 15(å¡?@
¡ � *N �*�( � ¡� �¡"¢C �'�( ��)  �*+(-,j." �0+(g0 �

� >?3�� Y�BaI�GLK�GJY�B � 4`*+>?3j(�¡<0 n<6 3)¢ $ 3 6 0 � ¡ (g06¢�3C:Ü¡?3~¢R*+> 6���n @�>�� ]$K}E�K}T$] � 3~ �,�>b>" �kl(å¡?@
 �¡�¡ n   � k>  � (¥¢�(8* f�� ." �0+3~¢ � ¡�*�>?3K �0+0 n?)÷$ *�( � ¡�*+>" �*;,�>" �¡?@�3 0 � (å¡_0o*N �*+3 � *N �w�3 $��  �,C3K �*
*+>?3~.a3=@�(å¡"¡?(å¡<@ � 4�*�>?3 f 3)  6)��� 3C* n 05, � ¡<0+(¥¢�3 6 *�>?3[0o*N �*�39050 $  �,=3

S =
{

A, Pi, Pse/o, Psu, E
}

15>?3 6 3��
A   �,$*+(gk�3
Pi  (�¡lk�  � (¥¢�(8* fö$ 3M¡<0+( � ¡
Pse/o  0+3M¡?( ��6 (8* f  �¡"¢ ��� ¢û �@�3 $ 3M¡<0+( � ¡
Psu  0 n?6 k	(gk ��6E$ 3M¡<0+( � ¡ * � .a3�@ 6���n�$ 3~¢ (å¡ �  �,9, ��6 ¢�(�¡?@h* � *+>?3 $P� 0+(�*�( � ¡ � 4�*+>?3

� 3=@�  �'$?6 3~¢�3 ,C390�0 ��6�� �
• P ind

su
 (å¡"¢?( 6 39,C* $ 3~¡<0"( � ¡ �{6 39,=3=(gk�3)¢ . f *�>?38¢�3~ �*+> � 4h �¡û �,C*+(gk�3 �

• P i
su

 0 n?6 kl(8k ��6 (å¡lk>  � (¥¢�(�* fC$ 3~¡<0+( � ¡
• P

se/o

su  0 n?6 kl(8k ��6 0"3~¡?( ��6 (�* f  �¡"¢ ��� ¢� �@�3 $ 3~¡<0+( � ¡
E  3 � ( ) (å¡" �*+( � ¡ � 4�*+>?3~(�¡<0 n?6 3~¢ $ 3 6 0 � ¡`� 0 $ 3~¡<0+( � ¡�.a3M¡<3C:?*�0 �

c�¡q*�>?3[0 $  �,=3 S
� 3C* n 0\, � ¡<0+(¥¢�3 6 *+><3;4 �����å� 15(�¡?@ ��6 ¢�3 6 (�¡?@

A ≤ Pi ≤ Pse/o ≤ Psu ≤ E.

! ��6 3~ �,�>�(�¡<0 n<6 3)¢ 1
3~0">"  �å�#n 0"3;*�>?3j4 �����å� 15(�¡?@÷¡ � *N �*�( � ¡"�
x �  �@�3;(å¡�*+><3 f 3~  6 i = 0
h � f 3)  6 0 � 4y, � ¡	* 6 (g. n *�( � ¡q(�¡�*+>?3 f 3)  6 i = 0
X � ��� ¢û �@�3 $ 3M¡<0+( � ¡�(å¡<(�*�(�  �`f 3)  6
H �  �@�3 � 4 6 3=*+( 6 3 ) 3~¡	* � ¡q*�>?3~." �0"(-0 � 4�1 ��6 wl(�¡?@ f 3~  6 0
T = min(X − x, H − h) �h¡ n<) .a3 6�� 4 f 3~  6 0�¡?393~¢�3)¢R* � .a3~3M¡	*+(8* � 3~¢ * �K��� ¢� �@�3

$ 3M¡<0+( � ¡�.�3~¡?3C:?*�05(�¡q*�>?3 f 3)  6 i = 0
ω − 1 � )  �'�( )�n?) 6 3~ �,�>" �. � 3/ �@�3 �

�^� 0"( )÷$�� (84 f *+>?3 )  �*"*�3 6)� 0 n�$�$P� 0+3\*�>?3 )  �'�( )�n?) ¢ n?6  �*�( � ¡b(å¡V*�>?3 $P� 0+(8*+( � ¡ �   � 0 �
15(�*�>R*�>?3 $P� 0�0+(8. � 3r0 n?6 kl(8k ��6f$ 3M¡�0"( � ¡ � * � , � (å¡�,C(¥¢�3�15(8*+> *+>?3j(å¡�0 n?6 3~¢`� 0 )  �'�( )�n?) � (�4{3
0 $  �¡ �

# 38¢�3=:"¡?38 �0
* 6  �so39,C* ��6+f � ¢�3 $ 3M¡"¢?(å¡?@ � ¡�, � ¡	*+3='l* � �
  � *�>?3�k�39,C* ��6^� 4 ω−x+1 , ��)÷$P� ¡?3~¡�*�0`15>?3 6 32*+>?3 ith

� ¡?3 � (-0`*�>?3u(�¡<0 n?6 3)¢ $ 3 6 0 � ¡�� 0
0"*� �*+3~(�¡q*�>?3[, � ¡"¢�(8*+( � ¡ � 4�(å¡<0 n?6 3~¢û �4L*�3 6 i

f 3~  6 0�$
��6
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. � *+>?3�4 n ¡<,$*�( � ¡ Π(·) 4 6���) *�>?3 ��6 ¢�3 6 3)¢p0+3C* � 4y¡" �* n?6   � ¡ n?) .�3 6 0 M : {0, 1, 2, . . .
�

ω − x} * � *+>?3 ��6 ¢�3 6 3~¢�0+3C* � 4u0"*� �*+390 S
� *+>" �*9� 0\*�>?3F  $�$�� (g,~ �*�( � ¡ � (�¡?wl(å¡<@ 3~ �,�>

f 3~  6 .�39@�(�¡�¡?(�¡?@�4 6���) *�>?3 $?6 390+3M¡	*[0"*� �*�3b15>?(-,�> , ��6�6 3 0 $P� ¡Ü¢?0;15(�*�> i = 0
� * �

� ¡?3 � 4�*+><3;:<k�3~0"*� �*�390 �
# 3~*+>?3 6 3=4 ��6 3[@�(gk�3;*�>?3~4 ���å��� 15(å¡<@ E
	�GJY��bE�K�G ��
 E�]$G-] As

� 4 ��6 s = 1, . . . , 5
� 4 ��6 *+>?3

¢�3=:"¡?(8*+( � ¡ � 4�4{3~ �0"(g. � 3r* 6  �so39,C* ��6 (g390 � * � .�3~(�¡	*+3M¡Ü¢�3~¢û �0
(�¡�. �§� �
A1 : i, j ∈ M  �¡"¢ i ≤ j ⇒ Π(i) ≤ Π(j),

*�>?(g0� �'�( ��)�� *�>?3 6 3C4 ��6 3 ��$?6�� k	(¥¢�3 06 K¡ � ¡ v ¢�39, 6 3) �0+(å¡?@p, � ¡"¢�(8*+( � ¡"$
A2 : i ∈ M  �¡"¢ T ≤ i ⇒ Π(i) 6= A,

(�¡ � *+>?3 6 1 ��6 ¢<0 �  �4L*+3 6 T
��6/)÷��6 3 f 3)  6 0 � ¡?3~,M �¡`� *5.a3~(å¡  �¡� �,$*+(gk�3~0"*� �*+3�$

A3 : i ∈ M  �¡Ü¢ i < T ⇒ Π(i) 6= Pa/v,

( � 3 � (�*\(-0®¡ � * $Ü� 0+0+(8. � 3j* � .a3~3M¡	*+(8* � 3~¢q* � c & i .a3M¡?3=:?*�0\.�3=4 ��6 3 T
f 3)  6 0 $

A4 : ∃i : Π(i) = Pi ⇒ ∀j, j ≥ i Π(j) 6= Pa/v,

*�>" �*u(-0y4 6���)  �¡b(�¡lk>  � (�¢�(8* fE$ 3M¡�0"( � ¡ � ¡?3�,M �¡`� *�0o*�3 $<� k�3 6 * � *+>?3r, � ¡Ü¢�(�*�( � ¡ � 4 ��� ¢< �@�3
$ 3M¡<0+( � ¡"$

A5 : Π(0) = A, Π(ω − x) = E,
0 $ 3 ,C(8:�,M  �å�gf *�>?3/: 6 0o*2, ��)÷$Ü� ¡?3M¡	* � 4a*+><35k�39,C* ��6 , ��6�6 3 0 $P� ¡Ü¢?0�* � *+>?3L �,$*�(8k�350o*N �*+3� �¡"¢
*�>?3 �  �0o*/* � 3 � ( ) (å¡Ü �*+( � ¡�0"*� �*+3 �

� � 2���?�2�]12�BF.1,/.135:EB .10C2�:8?�2	+ =>:8? =>2�,8]^3 �û752 .^?�,Li%2�4f.1:��
?�352�]

� 3C* n 0R, � ¡<0+(¥¢�3 6 *+><3h0"3=* Q ⊆ R3 4 ��6�) 3~¢ . fg$Ü� (å¡	*�0 P (z1, z2, z3)
k�3 6 (84 f (�¡?@_*+><3

4 ���å��� 15(å¡<@p, � ¡"¢�(8*+( � ¡�0 � 0+3=38  � 0 � ! (g@ n?6 3 #)� �














I) zi
(�¡	*+3=@�3 6 ≥ 0 4 ��6 i = 1, 2, 3

α) z1 + z2 + z3 ≤ ω − x
β) z1 ≥ T → z2 = 0
γ) z3 ≥ 1.

��#��

� 3=*9� 0 � (�¡?w 3~ �,�> $P� (�¡	* P (z1, z2, z3) ∈ Q * �  P* 6  �so39,$* ��6�f *+>" �*�(-0û¢�3C:"¡<3� �¡
  $�$�� (g,~ �*+( � ¡ Π[P (z1, z2, z3)](·) : M → S (�¡q*�>?3j4 �����å� 15(�¡?@V1®  f � n 0+(å¡<@ P (z1, z2, z3)� 3C* � 0�¢�(gkl(�¢?3r*�>?3~(�¡"¢�3C'�0"3=* M = [0, 1, . . . , ω − x] (å¡	* � *�>?38¢�(-0{s � (å¡	*\0+3C* � 4�*+>?3~(�¡"¢�3='
0 n .<0+3C*�0 Mk

4 ��6 k = 1, . . . , 5
� ¢?3C:"¡?3)¢û �0
4 ������� 1\0 �Æ� 3=*9� 0/*� �w�3 1 < T < ω − x) �























M1 = {i ∈ M : 0 ≤ i ≤ z1 ∧ (T − 1)}
M2 = {i ∈ M : z1 ∧ (T − 1) < i ≤ z1}
M3 = {i ∈ M : z1 < i ≤ z1 + z2}
M4 = {i ∈ M : z1 + z2 < i ≤ z1 + z2 + z3 − 1}
M5 = {i ∈ M : z1 + z2 + z3 − 1 < i ≤ ω − x},

�����
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15>?3 6 3 a ∧ b = min{a, b}
�

P ind
su

Psu

P se/o

Pse/o

su
ω - x - 1

ω - x 

ω - x - 1

Z

Z

1

Z3

2

Life without

invalidity

Life plane

T - 1

A

Life
/In

va
lid

ity

D
ea

th
/S

ur
vi

vo
rs

Pi

i

Z   - 1: how many years 
the position is an active 
one after the death of 
the legal predecessor

3

T

�^�~©��������~����¬��¦�C���§�����N©���|~���9���F�¦�9|~�����z��|~�Æ|~���X©N|~�����N����|~�Òª��N��©N���Å���	� � ��|~�¦�>�K�������
���������
I, α, β, γ

���N�����N�������������û�����E���Òª ©�|)}Y��|)���N�>������|~���ö©N|>|~�§ª��¦���M���N�E|)�������¦���<����
>���N�>���¦�~�����
�	�������§�����N©���|~����� ��� ���N�~}Y�N�>����� ¨ ���N�	�~����| ¨ �5²�²

! (g@ n?6 3 # � iÒ$  �,C3 )÷� ¢�3 �^� 4�  �å� 4{3) �0+(8. � 3;* 6  �so39,$* ��6 (83 0

�f �,�>�(�¡"¢�3C' i ∈ M .a3 ��� ¡?@	0®¡?39,=390�0�  6 ( �8f * �<� ¡?3Y �¡Ü¢ � ¡ �gfö� ¡?3 � 4�*+><3[0"3=*�0 Mk
�

����q!n^x���� # 3®¡ � *�(g,=3�*�>" �*x*�>?3/(å¡"¢?3C'�0+3C*�0 M1
 �¡"¢ M5

  6 3�¡?3 ,C3 0+0�  6 ( �gf *+>?3 n ¡<(g� n 3
¡ � ¡ v 3 )K$ * f�� 0+(å¡<,=3;(å¡"¢?3C' 0 ∈ M1

 �¡Ü¢q(�¡"¢�3=' (ω − x) ∈ M5

�

����q!n^x���� # 3 � .<0+3 6 k�3~*�>" �* M2 6= ∅ ( )÷$�� (83 0 z1 ≥ T
� *+>" �*r4 ��6 β

� 4 �§#)� ( )÷$�� (83 0
z2 = 0 *+>" �*5(å¡�(8*�0/* n?6 ¡ � 39� n   � 0 M3 = ∅

�
� 0Å  6 390 n�� * M2 6= ∅ → M3 = ∅  �¡"¢p(�¡÷ �¡�3 � n (8k>  � 3~¡�*21®  f � M3 6= ∅ → M2 = ∅

�
� Y�B?]=T��CW<T=B<K�FHMqY�B<FHM�Y�BaT��
E�K �bY�]$K �
Y	!~K#"?T�K%$uYbGLB�I�T 	q]CT=KN]

M2

E�B�I
M3

FHGLB'&�T�I KeY
( Y�GLB<K P (z1, z2, z3)

� E�B 
 T�BaY�B*)"T
� ( KNM �



� � � ��� � � ��� � ��� ��� � � � (

� 3=*9� 05*�>?3 6 3C4 ��6 3 � (å¡?wq* �X$Ü� (å¡	* P (z1, z2, z3) ∈ Q  V* 6  �so3 ,$* ��6�f�� *+>Ü �*�(-0	¢�3=:"¡?3E �¡
  $�$�� (g,~ �*+( � ¡ Π[P (z1, z2, z3)](·)

4 6���) M (�¡	* � *+>?3 ��6 ¢�3 6 3)¢R0 $  �,C3 � 4x0o*N �*+3 0 S
� (å¡q*+>?3

4 ���å��� 15(å¡<@�1®  f �

Π[P (z1, z2, z3)](i) =























A 4 ��6 i ∈ M1

Pse/o

4 ��6 i ∈ M2

Pi
4 ��6 i ∈ M3

Psu
4 ��6 i ∈ M4

E 4 ��6 i ∈ M5.

� � �

� 3=*9� 0 $?6�� k�3�*+>?3;4 ���å��� 15(å¡<@

��� �Üs^x���q�� "<T ( Y�GLB<KN]qY	! K "<TR]=T=K
Q

E�X+TqGLB Y�BaT )}K}Y )"Y�B�T � Y�X$X+TC] ( Y�B�I�T=B � T $yGLK " K#"?T
!CT�E�]$G 
 F8T�KNX�E��=T � K}Y�X$GJTC]��uWl]$GLB	S K "<T�E ( ( F�G � E�KNGJY�B I�T��2B�T�I 
 MbK#"?T�X+T=F8E�K�GJY�B<]

(2)
E�BaI

(3) 	

� 3=*9� 05: 6 0"*\k�3 6 (84 f *+>Ü �*\*�>?3~* 6  �so3 ,$* ��6�f<� (�¡?w�3)¢�* � 3) �,�> $Ü� (å¡	* � 4x0+3C* Q . f ) 3) �¡<0
� 4 6 3 �  �*+( � ¡�0 �����  �¡"¢ � � � (-0	 �,C* n   �å�gf 4{3) �0+(8. � 3 �

c�¡_4Æ �,C*[(�4 P (z1, z2, z3) ∈ Q
� *+><3M¡_*+>?3R, ��6�6 3 0 $P� ¡Ü¢�(å¡<@�  $�$�� (g,~ �*+( � ¡ Π[P (z1, z2

�
z3)](·) : M → S k�3 6 (8:<390�*�>?3;:<k�3Y �'l( ��) 0 As

� 4 ��6 s = 1, . . . , 5
�

� �"oM¤gs�
ûn
�^pzs1q
A1� 3C* n 0;k�3 6 (84 f *+>Ü �* � i  �¡"¢ j ∈ M  �¡Ü¢ i ≤ j ⇒ Π[P (z1, z2, z3)](i) ≤ Π[P (z1, z2

�
z3)](j)

� c�¡ 4Æ �,$* � 4 �����å� 15(�¡?@ *�>?3 ¢�3C:Ü¡?(�*�( � ¡ � 4\*+>?3�0+3C*�0 Mk
� 4 ��6 k = 1, . . . , 5, 1�3

� .<0"3 6 k�3�*�>" �*r(�4 i  �¡"¢ j .�3 �å� ¡?@V* � M  �¡"¢ i ≤ j
� *+><3M¡ i ∈ Mk

 �¡"¢ j ∈ Mh
( )K$"�8f

*�>" �* k ≤ h
�

ce4 i ∈ Mk
 �¡"¢ j ∈ Mh

4 ��6 k ≤ h
� *+><3M¡q, � ¡<0+(¥¢�3 6 (å¡<@�� T
�VE�X &�� � (�¡"¢�(-,M �*+(�¡?@�*�>" �*

 �* )÷� 0o* � ¡?3 � 4�*+>?3;*o1 � (�¡"¢�3C'�0"3=*�0 M2
 �¡"¢ M3

)   fR6 390 n�� *	¡ � ¡�3 )÷$ * f�� 15>?(-,�> � ¡
*�>?3~." �0+(-0 � 4�*�>?3[0"*� �*�3~0"3=* ��6 ¢�3 6 (å¡<@K �¡"¢ � � � ( )÷$�� (g390
*�>" �*54 ��6 i ≤ j 1�3;>" �k�3

Π[P (z1, z2, z3)](i) ≤ Π[P (z1, z2, z3)](j) �

� �"oM¤gs�
ûn
�^pzs1q
A2� 3C*9� 0~k�3 6 (�4 f *�>" �*~4 n ¡<,$*�( � ¡ Π[P (z1, z2, z3)](·) : M → S ¢?3C:"¡?3)¢_. fd6 3 �  �*+( � ¡<0 �����

 �¡"¢ � � � 4 n�� : � 0/*+><38 �'�( ��) A2

� *+>Ü �*\(-0 �

i ∈ M  �¡"¢ T ≤ i ⇒ Π[P (z1, z2, z3)](i) 6= A.

� 3M¡<,=3j1
3;>" �k�3 �
z1 ∧ (T − 1) ≤ T − 1,

4 6���) 15><(g,�>�. f T ≤ i 1
3;@�3C*

z1 ∧ (T − 1) ≤ T − 1 < T ≤ i

 �¡"¢C �0� V, � ¡�0"3 � n 3M¡<,=3j1
3 � .�*N �(�¡

z1 ∧ (T − 1) < i.
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� >?3 �  �*"*�3 6 . f ����� ( )K$"� (g390 i /∈ M1

� *+><3 6 3C4 ��6 3Y  � 0 � Π[P (z1, z2, z3)](i) 6= A
�

�

� �"oM¤gs 
ûn �^pzs^q
A3# 3~k�3 6 (�4 f *+>" �* � (84 i ∈ M  �¡"¢ i < T

� *+>?3~¡
Π[P (z1, z2, z3)](i) 6= Pse/o.

# 3 � .<0+3 6 k�3;*�>" �* Π[P (z1, z2, z3)](i) = Pse/o

(84� �¡"¢ � ¡ �gf (84 i ∈ M2

�  �¡Ü¢�*+>" �* M2$?6�� k�3906¡ � ¡ v 3 )÷$ * f (84h �¡"¢ � ¡ �gf (84 z1 ≥ T
�

c�¡q*�>?3 �  �*"*�3 6 ,~ �0+3 Π[P (z1, z2, z3)](i) = Pse/o

(�4
 �¡"¢ � ¡ �8f (�4�*+>?3[, � ¡"¢?(�*�( � ¡
T − 1 < i ≤ z1

> ��� ¢?0 � ¡ � *�(g,=3;*+>" �* z1 ∧ (T − 1) = T − 1)
�

# >?3M¡ i ∈ M *�>?38 �. � k�3;, � ¡"¢�(8*+( � ¡�(g0\39� n (gk�  � 3~¡	*
* �

T ≤ i ≤ z1.� 0	  6 390 n�� */1
3;>" �k�3
Π[P (z1, z2, z3)](i) = Pse/o ⇔ T ≤ i ≤ z1,

, � ¡<0"3 � n 3M¡	* �gf�� (84 i < T *+>?3~¡ Π[P (z1, z2, z3)](i) = Pse/o

,M �¡�¡ � *
*N �w�3 $"�  �,C3 �
c�¡ � *+>?3 6 1 ��6 ¢<0 � *+><3j(�¡<0 n?6 3~¢ $ 3 6 0 � ¡�,M �¡`� *5.a3~3M¡	*+(8* � 3~¢ * � & ��� .a3M¡?3=:?*�05.a3C4 ��6 3

T
f 3~  6 0�>" �k�3;3 �   $ 0"3)¢ �

� �"oM¤gs 
ûn �^pzs^q
A4# 3~k�3 6 (�4 f *+>" �*

∃i ∈ M : Π[P (z1, z2, z3)](i) = Pi ⇒ ∀j, j ≥ i, Π[P (z1, z2, z3)](j) 6= Pse/o.�^� *+>?(-0`(8*�0 n�� ,C3 0#* �!� .<0+3 6 k�3x*�>" �* � @�(8k�3M¡8 �¡~(å¡"¢?3C' i ∈ M 15(8*+> Π[P (z1, z2, z3)](i) =
Pi

� *+>?3j(�¡"¢�3C'R0+3C* M3
(-0 $<6�� k�3~¢÷¡ � ¡ v 3 )÷$ * f  �¡"¢R0 �"��� ¡R*+>?3j." �0+(-0 � 4��\3 )   6 w ��� *+>?3

(å¡Ü¢�3C'�0"3=* M2
(g0/3 )K$ * f��

�

� �"oM¤gs 
ûn �^pzs^q
A5# 3~>Ü �k�3r* � ,�>?3 ,�wV*+>" �*

Π[P (z1, z2, z3)](0) = A  �¡"¢ Π[P (z1, z2, z3)](ω − x) = E.
ce*5(g0/3~¡ ��n @�> * � 0"393r*�>" �*/4 ��6  �¡ f ,�> � (-,C3 � 4 $Ü� (å¡	* P (z1, z2, z3) ∈ Q

� ¡ *+>?3~.Ü �0+(g0 � 4
*+>?38¢?3C:"¡?(8*+( � ¡�0 �����6� 4�*�>?3~(�¡"¢�3C'�0"3=*�0 M1

 �¡"¢ M5

� 1
3;>" �k�3
0 ∈ M1

 �¡"¢ (ω − x) ∈ M5.
� 3~¡<,C3 ��� ¡q*+>?3~.Ü �0+(g0 � 4 � � � 1�3;>" �k�3

Π[P (z1, z2, z3)](0) = A  �¡"¢ Π[P (z1, z2, z3)](ω − x) = E. �

�pT "<E�D�TRK#"?T=X+T !CY�X+T ( X�Y�D�T�I K "<E�K/S�GLD�TCB E ( Y�GLB<K P ∈ Q
�\K "<TbK�X+E��=T � KeY�X$M�FHGLB &�T�I�K}Y�GLK


 M �bT�E�B<]bY�!RI�T��2B<GLK�GJY�B<]
(2)

E�BaI
(3)

G-]	��

����������
 ��GLB Y�K "<TCXbK}T=X ��]���GLKrD�T=X$G ��TC]bK "<T
E
	�GJY���]

As
�*!CY�X

s = 1, . . . , 5 	� 3C* n 0�¡ � 1 $?6�� k�3 *�>" �*�*+><3 6 3 �  �*�( � ¡<0 �����  �¡Ü¢ � � � ¢�3C:"¡<3  �¡t(�¡�so39,C*+(gk�3  �¡"¢
0 n<6 so3 ,$*+(gk�3 � ( � 3 � .?( n ¡?(-� n 3 �   $�$�� (g,~ �*+( � ¡�0`.a3C*o1
3=3M¡�0"3=*�0 Q  �¡"¢ TA

� *+>?3/0+3C*�0 � 4<4{3~ �0+(g. � 3
* 6  �so3 ,$* ��6 (g390 ���



� � � ��� � � ��� � ��� ��� � � � �

� * � �û753546,/.135:8B 35BLi%2�4f.13�J<3N.ÜO .12�]y.

� 3C* n 0/*N �w�3j*o1 � ¢?(g0"*+(�¡<,$* $Ü� (å¡	*�0 P (z1, z2, z3)
 �¡"¢ P ′(z′1, z

′

2, z
′

3)
.�3 �å� ¡?@�(�¡?@�* � Q

�
# 3 )�n 0o* $<6�� k�3V*+>" �*�*+><3b*o1 � 4{3~ �0+(g. � 3R* 6  �so39,C* ��6 (g390 � (�¡?w�3)¢ 15(�*�>P*+>?3 ) . f *+><3

¢�3=:"¡?(�¡?@ 6 3 �  �*+( � ¡<0 �����  �¡Ü¢ � � �5�   6 3/¢?(���3 6 3M¡	* �
# (8*+> 6 390 $ 3 ,$*/* � P (z1, z2, z3)

1�3 � .<0"3 6 k�3�*�>" �*


















[0, z1] = M1 ∪ M2 = (Π[P (z1, z2, z3)])
−1(A, Pse/o)

(z1, z1 + z2] = M3 = (Π[P (z1, z2, z3)])
−1(Pi)

(z1 + z2, z1 + z2 + z3 − 1] = M4 = (Π[P (z1, z2, z3)])
−1(Psu)

(z1 + z2 + z3 − 1, ω − x] = M5 = (Π[P (z1, z2, z3)])
−1(E).

�z�Ò�

# 3 (�¡"¢�(-,M �*�3~¢  �0b: 6 0o* ) 3 ) .a3 6ö� 4 6 3 �  �*+( � ¡<0 �Æ��� 15(�*�>?(å¡ . 6  �,�w�3C*�0ö _4{3=1[¡Ü �* n<6   �
¡ n?) .�3 6 (å¡	*�3 6 k�  � 0R*+>" �* )   f£��6 )   f ¡ � * (�¡<, �gn ¢�3h*+>?3h, ��6�6 3 0 $P� ¡Ü¢�(å¡<@ �  �0"*R*�3 6�)��
¢�3 $ 3~¡"¢�(�¡?@ � ¡_15>?3C*�>?3 6 *+><3p. 6  �,�w�3C*j(g0~0�� n   6 3 ��6;6���n ¡"¢ � c�¡   $   6   ��� 3 � 16  f  �0r* �
$P� (�¡	* P ′(z′

1
, z′

2
, z′

3
) 1�3;>" �k�3



















[0, z′
1
] = M ′

1
∪ M ′

2
= (Π[P ′(z′

1
, z′

2
, z′

3
)])−1(A, Pse/o)

(z′1, z
′

1 + z′2] = M ′

3 = (Π[P ′(z′1, z
′

2, z
′

3)])
−1(Pi)

(z′
1

+ z′
2
, z′

1
+ z′

2
+ z′

3
− 1] = M ′

4
= (Π[P ′(z′

1
, z′

2
, z′

3
)])−1(Psu)

(z′1 + z′2 + z′3 − 1, ω − x] = M ′

5 = (Π[P ′(z′1, z
′

2, z
′

3)])
−1(E).

�
4′
�

# 3 >" �k�3b(å¡Ü¢�(g,~ �*�3~¢P15(8*+>£ �¡9  $ 3C'_*+>?3�0"3=*�0F¢�3C:"¡<3~¢P. f_6 3 �  �*+( � ¡<0 �����  �0~* � $P� (�¡	*
P ′(z′

1
, z′

2
, z′

3
)
�

ce*�4 �����å� 1\0R*+>" �* � (84[*�>?3h*o1 �£$P� (�¡	*�0 P (z1, z2, z3)
 �¡"¢ P ′(z′1, z

′

2, z
′

3)
¢�(��a3 6C� ¡

 �,=, ��n ¡	* � 4u*+><3�: 6 0"*;, ��)÷$P� ¡?3~¡�* � z1 6= z′
1

� *+><3M¡_. fg�z���  �¡Ü¢ � 4′ � *�>?3�*o1 � 4{3~ �0"(g. � 3
* 6  �so39,$* ��6 (83 0	¢�(��a3 6 4 6���) 3) �,�> � *+>?3 6 (�¡ *�>?3p, ��)÷$P� ¡?3~¡�*�0 6 3 �  �*�(8k�3[* � *+>?3V0+3C* � 42*+><3
*o1 � 0"*� �*+3 0 A  �¡"¢ Pse/o

 �¡"¢ *+>?3 f   6 3 � *+>?3 6 3=4 ��6 3 � ¢�(��a3 6 3~¡�* �
ce4/(å¡<0"*+3) �¢ � *+>?3V*o1 �û$Ü� (å¡	*�0Y¢�(���3 6 (å¡_*+><3R0"3 , � ¡Ü¢d, ��)÷$Ü� ¡?3M¡	* � *+>" �*[(g0 z2 6= z′

2

�
*�>?3M¡ *+>?3j*o1 � 4{3~ �0"(g. � 3�* 6  �so39,C* ��6 (g390f¢?(���3 6 (�¡ *�>?3j, ��)÷$P� ¡?3~¡�*�0/, ��6�6 390 $Ü� ¡"¢�(�¡?@~* � *+><3
0"*� �*+3 Pi

�R*+><3�� � 3~¡?@�*�> 0 $  �¡`� � 45*+>?3q*o1 � 0"3=*�0 M3
 �¡"¢ M ′

3

(-0÷¢�(���3 6 3M¡	* � *+>?3 6 3=4 ��6 3
M3 6= M ′

3

� (�¡<, �gn ¢�(�¡?@ö  � 0 � *�>?3~,M �0"3;15>?3~¡ � 4 ��6�� ¡?3 � 4�*�>?3j*o1 � * 6  �so39,$* ��6 (83 0 � *+><3[0"3=*
(�¡p� n 3 0o*�( � ¡�(-0x3 )÷$ * f�� 15>?(-,�> � ,9, n?6 0�(�4a*+>?350+39, � ¡"¢p, ��)K$P� ¡<3M¡	* � 4�*�>?35, ��6+6 390 $Ü� ¡"¢�(�¡?@$P� (�¡	*/(-0 0

���
! (å¡Ü  ���8f�� (84#*+><3�*o1 �8$P� (�¡�*�0�¢?(���3 6 (å¡R*+>?3r*+>?( 6 ¢R, ��)K$P� ¡<3M¡	* � *+>" �*�(-0 z3 6= z′

3

� *+>?3~¡
*�>?3[*o1 � 4{3~ �0"(g. � 3[* 6  �so3 ,$* ��6 (83 0�¢�(���3 6 (�¡�*+>?3p, ��)K$P� ¡<3M¡	*�0r, ��6�6 390 $Ü� ¡"¢�(�¡?@p* � Ps

�
*+><3
� � 3~¡?@�*�> 0 $  �¡`� � 4x*+><3[*o1 � 0"3=*�0 M4

 �¡"¢ M ′

4

(-0!¢?(���3 6 3M¡	* � *+><3 6 3C4 ��6 3 M4 6= M ′

4

�   � 0 �
15>?3~¡ � ¢ n 3 * � � ¡?3 � 4\*+>?3q*o1 � * 6  �so3 ,$* ��6 (83 0~*+><3�0+3C*p(å¡ � n 390"*+( � ¡ (g0p3 )÷$ * f�� 15>?(-,�>
� ,=, n?6 0;(�45*�>?3 , ��6+6 390 $P� ¡"¢�(�¡?@ $P� (�¡�*�>" �0;*�>?3b*�>?( 6 ¢P, ��)÷$Ü� ¡?3M¡	* (≥ 1 4 ��6 γ

� 4 ��#��§�
3='� �,$* �8f 3 � n   � * � 1

���

� * � �û753546,/.135:8B ]1WX?�i%2�4Å.�3�J<3N.ÜO .12�]%.

 !� 1 1
3 $?6�� k�3;*�>" �*r*+>?3K  $�$�� (-,M �*�( � ¡ Π[P ] : Q → Tf
� 0+3C* � 4x4{3~ �0+(g. � 3�* 6  �so3 ,$* ��6 (g390 �

¢�3=:"¡?3)¢ . f 6 3 �  �*�( � ¡<0 �����  �¡"¢ � � � (g0 ]$W�X �=T � K�GLD�T �
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� 3C* n 0[, � ¡<0+(�¢�3 6  q4{3~ �0+(g. � 3V* 6  �so39,C* ��6�f�� *+>" �*�(g0E �¡   $�$�� (-,M �*�( � ¡ Π(·) : M → Sk�3 6 (84 f (å¡?@9 �'�( ��) 0 As
� 4 ��6 s = 1, . . . , 5  �¡"¢ $?6�� k�3�*�>" �*�(�*�(g0�0 n 390 4 6���)   $P� (�¡	*

P (z1, z2, z3) ∈ Q . f   $�$"�8f (�¡?@p*+>?3 6 3 �  �*�( � ¡<0 �����  �¡"¢ � � �5�
# 3 � (�¡?w *�>?3q(�¡"¢�3=' 0"3=*�0V, ��6+6 390 $Ü� ¡"¢�(�¡?@�* � 3~ �,�> 0o*N �*�3 (�¡ kl(8391 � 4!  $�$�� (g,~ �*�( � ¡

Π(·)
� # 3;*�>?3M¡�>" �k�3��































N1 = {i ∈ M : Π(i) = A}

N2 = {i ∈ M : Π(i) = Pse/o}

N3 = {i ∈ M : Π(i) = Pi}

N4 = {i ∈ M : Π(i) = Psu}

N5 = {i ∈ M : Π(i) = E}.

��(��

# 3 $?6�� ,C393~¢b. f 4 n?6 *+>?3 6��gf  �0�0+390�0"(�¡?@~*�>?3j4 �����å� 15(�¡?@�k>  �8n 3 0 z1, z2, z3
, � ¡�¡?3 ,$*�3~¢R15(8*+>

*+>?3;4{3) �0+(8. � 3j* 6  �so3 ,$* ��6�f Π(·) �

z1 = max
i∈N1∪N2

i

z2 =

{

max
i∈N3

i − z1
(�4 N3 6= ∅

0 (�4 N3 = ∅

� � �

z3 = it − (z1 + z2),

15>?3 6 3 it
(g0u*+><3r(�¡"¢�3='b, ��6�6 3 0 $P� ¡Ü¢�(å¡<@;* � *�>?3 F8E�]$K � Y�� ( Y�BaT=B<K � 4#*+>?3r4{3~ �0"(g. � 35* 6  �so3 , v

* ��6+f�� *+>" �*\(g0
*�>?3;: 6 0o* )÷��) 3M¡	*\15>?3 6 3~0"*� �*+3 E
� ,9, n?6 0 �

# 3~1® �¡	*/* �<$?6�� k�3r*+>Ü �*��
  � *�>?3;4 �����å� 15(�¡?@b0+3C*�0 � 4�3 � n   � (�*�(83 0/> ��� ¢ �































N1 = {i ∈ M : 0 ≤ i ≤ z1 ∧ (T − 1)}

N2 = {i ∈ M : z1 ∧ (T − 1) < i ≤ z1}

N3 = {i ∈ M : z1 < i ≤ z1 + z2}

N4 = {i ∈ M : z1 + z2 < i ≤ z1 + z2 + z3 − 1}

N5 = {i ∈ M : z1 + z2 + z3 − 1 < i ≤ ω − x}

� ���

. �ö$P� (�¡	* P (z1, z2, z3)
� *�>?3R, �Ò��6 ¢�(�¡" �*�390 � 4/15>?(-,�>�  6 3<¢�3=:"¡?3~¢_. f *�>?3 6 3 �  �*+( � ¡<0

��(��  �¡Ü¢ � � �5� .�3 �å� ¡?@�0
* � *+>?3[0+3C* Q
�

ce4 n 0"(�¡?@ ��(��  �¡"¢ � � ��� 1�3	  $�$��gf *�>?3!  $"$�� (-,M �*+( � ¡<¢�3=:"¡?3~¢R. f *+>?3 6 3 �  �*+( � ¡ �����  �¡"¢� � � * � *+>?3 $P� (�¡	* P (z1, z2, z3)
� (�¡?w�3)¢q15(8*+>�*�>?3;4{3~ �0"(g. � 3r* 6  �so39,C* ��6�f Π(·)

� 1�3 � .�*� �(å¡
 �@� �(�¡R*+><3;4{3~ �0+(g. � 3j* 6  �so39,$* ��6�f Π[P (z1, z2, z3)(·)]

�
# 3[>Ü �k�3j*+> n 0 $<6�� k�3~¢b*�>" �*5*�>?3~4{3) �0+(8. � 3j* 6  �so3 ,$* ��6+f Π(·) (-0 � .�*N �(�¡?3~¢�. f ) 3~ �¡<0

� 4�*+>?38  $�$�� (g,~ �*+( � ¡�� n   � (8:<3~¢q. f *+>?3 6 3 �  �*�( � ¡<0 �����  �¡"¢ � � ��� 4 6���) P (z1, z2, z3) ∈ Q
�

15> � 0+3~, �Ò��6 ¢�(�¡" �*�390®  6 3/¢�3C:"¡<3~¢�0o*N  6 *+(�¡?@p4 6���) Π(·)
�<n 0+(å¡<@ 6 3 �  �*�( � ¡<0 ��(��  �¡"¢ � � ���

ce4`1�3 $<6�� k�3/*+>" �*�  �  �¡"¢V. �   6 3/* 6�n 3 � 1�3�>" �k�3	  � 0 �Y$?6�� k�3~¢�*�>" �*2*�>?3L  $�$�� (g,~ �*�( � ¡
Π(P ) : Q → Tf

(-020 n<6 so3 ,$*+(gk�3	 �¡"¢ � .�3 0"(¥¢�3 0 � *+>" �*2*+>?3L  $�$�� (-,M �*�( � ¡<¢�3C:"¡<3~¢V. f�) 3) �¡<0
� 4 ��(��  �¡"¢ � � � 4 6���) Tf

* � Q (-0;*�>?3R(�¡	k�3 6 0"3 � 4�*�>?3ö  $�$�� (-,M �*�( � ¡ Π(P ) : Q → Tf¢�3C:Ü¡?3~¢�. f *+><3 6 3 �  �*+( � ¡<0 �����  �¡"¢ � � ���



� � � ��� � � ��� � ��� ��� � � � �

� 3=* n 0 $?6�� k�3r*+>" �*!  �  �¡Ü¢q. �   6 3r* 6+n 3 �

�������������
	�� � 3=* n 0�, � ¡<0"(¥¢�3 6  �4{3~ �0"(g. � 3b* 6  �so3 ,$* ��6�f�� *+>" �*�(g0K �¡9  $�$�� (g,~ �*�( � ¡ Π(·) :
M → S k�3 6 (�4 f (�¡?@�*+>?38 �'l( ��) 0 As

4 ��6 s = 1, . . . , 5
� # 3[0"*�  6 *515(8*+>

O 
 ]CT=X$D�E�K�GJY�B�
�� 3~¡?3 6   ���8f�� *+>?3[0+3C*�0 NK
�
k = 1, . . . , 5

� (�4h¡ � */3 )÷$ * f �Jn ¡"¢�3 6  �'�( ��)
A5

� ¡ �8f *�>?3b0"3=*�0 N1
 �¡"¢ N5

  6 3V,C3 6 *� �(å¡ �8f 0 n ,�> �5� E�X�TbGLB<K}T=X$D�E�F�]bY�!VBaE�KNW�X+E�F
B<W � 
 T=X�] � 15>?(g,�> )   f , � ¡	*N �(�¡ � ¡<3j0+(å¡<@ � 3 $P� (�¡	* � � 0�  )  �*+*+3 6®� 4`4Æ �,C* � ¢ n 3j* �
 �'�( ��) A1

� 1
3j>Ü �k�3��
(84 i, j ∈ M  �¡Ü¢ i ≤ j  �¡"¢ Π(i) = Π(j)

*+>?3~¡ Π(i) = Π(k) = Π(j) 4 ��6 k ∈ M i ≤ k ≤ j.

� 0f  6 3 0 n�� * � 4 ��6 3~ �,�> NK
�
k = 1, . . . , 5

�Ü� ¡ � ¡ v 3 )÷$ * f��  �¡"¢p4 ��6 i ∈ M
�
i ∈ Nk(�4
 �¡"¢ � ¡ �8f (�4

min
i∈Nk

i ≤ i ≤ max
i∈Nk

i
� � �

O 
 ]CT=X$D�E�K�GJY�B � & 15(�¡?@b* � *+><3 ��$ *+( � ¡<0 � 4f �'�( ��) 0 A1
 �¡"¢ A4

�
N3 6= ∅ ⇒ N2 = ∅

�
��6 3 � n (8k>  � 3M¡	* �8f N2 6= ∅ ⇒ N3 = ∅

� *�>" �*�(-0 E�K��bY�]$K5Y�B�TpY�![K#"?T�K%$uYb]=T=KJ]
N2E�BaI

N3

�VE�MbX+T$]$W�FHK�BaY�B*)"T
� ( KNM �
� (8k�3M¡�*�>?3�4{3) �0+(8. � 3�* 6  �so39,C* ��6+f Π(·) : M → S

� 1
3�k�3 6 (�4 f *+>Ü �*r3 � n   � (�*�(83 0 � ���
  6 3!  $�$"� (-,M �. � 3 �  �¡"¢V1
3r0 $ 3 ,C(8:�,M  �å�gf 0"*�  6 *�. f÷$?6�� kl(å¡<@;*+>" �*u*+><3r0+3C* N1 = {i ∈
M : Π(i) = A} 39� n   � 0;*�>?3R0+3C* {i ∈ M : 0 ≤ i ≤ z1 ∧ (T − 1)}

� 15(8*+> z1¢�3C:"¡<3~¢�(å¡ � � ���
i 3C* N1

(g0K¡ � ¡ v 3 )÷$ * f .a39,M  n 0+3 0 ∈ N1
15(8*+> 0 = min

i∈N1

i  �¡Ü¢P*+><3 6 3C4 ��6 3 . f
O 
 ]=TCX$D�E�K�GJY�B�
 � 4 ��6 i ∈ M

� 1�3;>" �k�3 i ∈ N1 ⇔ 0 ≤ i ≤ max
i∈N1

i
�

 !� 1t1
3jk�3 6 (�4 f *+>" �*
max
i∈N1

i = z1 ∧ (T − 1).
�����

� 3C*9� 05, � ¡<0+(�¢�3 6 *+>?3;*o1 �K$Ü� 0+0+(8. � 3~,M �0"3 0 �
� ( � z1 ≤ (T − 1)

�
� >?3M¡ ¢ n 3;* � � '�( ��) A3

� (8*54 �����å� 1\0�*�>" �* N2 = ∅
� *�>?3 6 3C4 ��6 3 �

z1 ∧ (T − 1) = z1 = max
i∈N1∪N2

i = max
i∈N1

i,

( � 3 �	����� (-0
* 6�n 3 �
� (8( � z1 ≥ T

�
� >?3M¡ � . f  �'�( ��) A2

1�3�>" �k�3 N2 6= ∅
� � 3M¡<,=3 �  �,=, ��6 ¢�(å¡<@V* � O 
 ]CT=X$D�E�K�GJY�B � �

1�3[@�3C* N3 6= ∅
� ( � 3 � *+>?3p0o*N �*+3 Pi

z (å¡�, �gn ¢�3~¢l|~(�¡�*�>?3�0"*� �*+3 ��6 ¢?3 6 (å¡?@b.a3C*o1
3=3~¡
A  �¡"¢ Pse/o

� G-]~BaY�KuK}E &�TCB 
 MbK#"?T�K�X+E��=T � KeY�X$M Π(·)
�
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i (å¡�,C3 N2 6= ∅  �¡"¢ A1
> ��� ¢?0 � 1�3 � .?*� �(�¡

max
i∈N1

i < max
i∈N1∪N2

i = max
i∈N2

i = z1.
� >?3M¡�. f  �'l( ��) A2

max
i∈N1

i ≤ T − 1.
� >?3 6 3C4 ��6 3 �

max
i∈N1

i ≤ T − 1 < z1.
�§#~���

 	� 1 (�4x1�3;>" �¢
max
i∈N1

i < T − 1

*+>?3~¡£ �¡ (å¡"¢?3C' ī 1 ��n�� ¢ 3='�(g0"* � 15(8*+> ī ≤ T − 1
� 0 n ,�> *�>" �* Π(̄i) = Pse/o

� (å¡ *+>?3
(å¡	*�3 6 k�  � [0, z1]

� ¡ �gf *�>?3h0"*� �*�390 A  �¡"¢ Pse/o

  6 3�*� �w�3M¡ �5� (å¡ , � ¡	* 6  �¢�(-,$*�( � ¡ 15(8*+>
 �'�( ��) A3

�
� >?3 6 3C4 ��6 3 max

i∈N1

i = T − 1  �¡"¢ . f���#~����� (8*54 �����å� 1\0
*�>" �*

max
i∈N1

i = z1 ∧ (T − 1),

( � 3 �	����� > ��� ¢<0 �
� >?3 6 3C4 ��6 3 � (�4 z1 ≥ T

� *+><3;4 �����å� 15(�¡?@V(å¡<39� n   � (8*+(g390�  6 3r* 6�n 3

0 = min
i∈N1

i < max
i∈N1

i = z1 ∧ (T − 1) < min
i∈N2

i ≤ max
i∈N1∪N2

i = max
i∈N2

i = z1.

� 0K  6 390 n�� * � *+><3q(�¡	*+3 6 k>  �6� 4	¡" �* n?6   � ¡ n?) .a3 6 0 [0, z1]
� Y�B<K}E�GLB<] *+>?3q*o1 � (å¡	*+3 6 k>  � 0

15>?(-,�>h, � (å¡<,=(�¢?3�15(8*+> N1
 �¡"¢ N2

� O 
 ]=TCX$D�E�K�GJY�B 
 � ¢�3C:"¡<3~¢ (�¡ *�3 6�) 0 � 42*+>?3V0"*� �*�390
A  �¡"¢ Pse/o

��6 390 $ 3 ,$*�(8k�3 �gf�� ( � 3 �

N1 =

{

i ∈ M : 0 ≤ i ≤ max
i∈N1

i = z1 ∧ (T − 1)

}

,

N2 =

{

i ∈ M : min
i∈N2

i ≤ i ≤ max
i∈N1∪N2

i = max
i∈N2

i = z1

}

.

� � ¡<0+(¥¢�3 6 (å¡<@~*+>" �*�*�>?3;0o*N �*+3 Pi

�Ò��� ,~ �*�3~¢R.a3C*o1
3=3~¡ A  �¡"¢ Pse/o

� (g06¡ � *u*� �w�3~¡R. f *+>?3
* 6  �so3 ,$* ��6+f  �¡"¢d. f  �'�( ��) A1

��� ¡ �gf *+><3R0o*N �*+3 0 A  �¡"¢ Pse/o

,M �¡_.a3V*� �w�3~¡d(�¡_*+>?3
(å¡	*�3 6 k�  � [0, z1]

� , � ¡<0+39� n 3M¡	* �8f �

min
i∈N2

i =

(

max
i∈N1

i

)

+ 1.

� >?3 6 3C4 ��6 3 N2

� *+>Ü �*\(-0
*+>?3~(�¡	*+3 6 k>  � ¢�3=:"¡?3)¢q. f 0"*� �*+3 Pse/o

,M �¡q.a3;4 ��6�)�n��  �*�3~¢� �0

N2 =

{

i ∈ M : z1 ∧ (T − 1) = max
i∈N1

i < i ≤ z1

}

,
�§#�#)�



� � � ��� � � ��� � ��� ��� � � � #�#

 �¡"¢R*�>?3~(�¡�*�3 6 k>  � [0, z1]
(g050 $�� (�*\(�¡	* � *+><3;*o1 � ¢�(-0{s � (å¡	*\(�¡�*�3 6 k>  � 0

N1 = {i ∈ M : 0 ≤ i ≤ z1 ∧ (T − 1)}
6 3 �  �*�(8k�3j* � 0o*N �*�3 A,

N2 = {i ∈ M : z1 ∧ (T − 1) < i ≤ z1}
6 3 �  �*+(gk�3r* � 0"*� �*+3 Pse/o.

� 0R* � *+><3d0+39, � ¡"¢ 3 � n   � (�* fb� ��� 1
3 � .�0"3 6 k�3�*+>" �* N2 6= ∅ (�4F �¡"¢ � ¡ �8f (84 z1 ≥
T
� � >?3 6 3C4 ��6 3 � 4 �����å� 15(�¡?@P*�>?3 6 3) �0 � ¡?(�¡?@ � 4 � (8( ��� *+><3d0+3C* N2

� .�39(å¡?@H �¡t(å¡	*+3 6 k>  �
� 0"393 O 
 ]=T=X$D�E�KNGJY�B 
 � ,M �¡h.a3�1 6 (8*"*+3~¡h(�¡h*�>?3�4 ��6�) �§#�#���� ( � 3 �å� *�>?3 �  �*+*+3 6t� 4y*+>?3p*o1 �
, � ¡<0+(�¢?3 6 3~¢R3 � n   � (�*�(83 0 � 4 � ��� (-0/* 6+n 3 �

� 0\4 ��6 *�>?3�0+3C* N3

� (�4y(8*9� 0	¡ � *\3 )÷$ * f�� *+>?3~¡ (8*�(g0! �¡�(�¡�*�3 6 k>  ��� ( � 3 � 4 ��6 i ∈ M 1�3
>" �k�3

i ∈ N3 ⇔ min
i∈N3

i ≤ i ≤ max
i∈N3

i.
�§#)���

! ��6
min
i∈N3

i
� . f O 
 ]=T=X$D�E�KNGJY�B � 1
3[,M �¡�0"393;*+>" �*\*+>?3[4 �����å� 15(�¡?@b0"3 � n 3M¡<,=3 � 4x( )÷$�� (-,M  v

*�( � ¡<0� �¡"¢q39� n (gk>  � 3M¡<,=390/(-0/* 6�n 3 �

N3 6= ∅ ⇒ N2 = ∅ ⇔ z1 ≤ T − 1 ⇔ z1 = z1 ∧ (T − 1)
��# � �

 �¡"¢q, � ¡<0+39� n 3~¡	* �gf

N3 6= ∅ ⇒ z1 = z1 ∧ (T − 1) = max
i∈N1

i.

� f  �'�( ��) A1
 �¡"¢�*�>?3b0o*N �*�3 ��6 ¢�3 6 (�¡?@ � *�>?3V(å¡	*�3 6 k�  � N3

� ¢?3C:"¡?3)¢h. f *�>?3b0o*N �*+3 Pi

�
4 ���å��� 1\05( )p) 3)¢�(� �*+3 �8f *+><3�(�¡�*�3 6 k>  � N1

¢?3C:"¡?3)¢�. f *�>?3�0"*� �*+3 A  �¡Ü¢�>?3M¡�,C3�. f ��# � ���
1
3;@�3C*��

min
i∈N3

i =

(

max
i∈N1

i

)

+ 1 = z1 ∧ (T − 1) + 1 = z1 + 1.

� f
N3 6= ∅

� 4 6���) 6 3 �  �*+( � ¡ � � � 1
3Y  � 0 � >" �k�3

max
i∈N3

i = z1 + z2.
�§#M�Ò�

� 3M¡<,=3r4 ��6   ��� i ∈ M
� 1�3 � .�*� �(å¡

i ∈ N3 ⇔ z1 < i ≤ z1 + z2,

*�>" �*5(-0 � *�>?3;*+><( 6 ¢�39� n   � (8* f (å¡ � ��� > ��� ¢?0 �
� � ¡�,C3 6 ¡?(�¡?@~0"3=* N4

� (84'¡ � ¡ v 3 )÷$ * f�� (�* )�n 0"*2.�3	 �¡V(å¡	*+3 6 k>  �%�  �0f  �g6 3) �¢ f ¡ � *+(-,C3)¢ ���
( � 3 � 4 ��6   �å� i ∈ M 1
3;>" �k�3 �

i ∈ N4 ⇔ min
i∈N4

i ≤ i ≤ max
i∈N4

i.

� f  �'�( ��) A1
 �¡"¢~*�>?350o*N �*+3 0 ��6 ¢?3 6 (å¡?@ � (å¡	*+3 6 k>  � N4
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